H & 0l & AHS B Ml A

2N B2
= el F 29
o9l S2d EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
s24 1,845,332 2,672,404 827,072
gel 28 g8 760,225 781,259 A21,034
22| 535,840 523,230 12,610
-8 E2ES 535,840 523,230 12,610
201 fer= 3| 168,730 157,480 11,250
01 At 2|l 168,080 156,940 11,140
Oget=EH| 162,460
O7EAAX M 2,000,000& ~12& 24,000
otlz2+=g 9,060
O=2XI(138) 19,1402 #2552+ 122 5,742
O 2LXI(98) 11,0602 x255 * 122 3,318
OJIXta 29 6,800,000 6.800
OSAIEX 7 (M, B4ZXI)
40,0002 102 A 400
ORAMAZ OISAAE AIE= 19,000
O&IIZ, NHHEZE S
19,000,000& 19,000
OSAIAL 2018 AAE F=(3MAH
74,000,000 74,000
073 23de Iy 2H(AH3)
20,000,000 20,000
OZd 223 7¢ 2,000,000& 2,000
O3thet RAl2el 2,000,000 2,000
OAXI QI 5} 3,000,000& 3,000
os8d FYE &8 RANEs
700,000 700
O1ns ZEE Jddel Sxz
500,000 32 1,500
OsAlH| 4,320
OEEER2E =4
9,0003 x2EH*204!x 12 4,320
Oo=g=¢ 1,300
OXE EE9E Lotus HA=
650,000 22 1,300
2 352484l 650 540 10
O=32=  HAl 650
Oogs ZHE & 288
650,000 650
202 04| 1,620 810 810
01 2LHA b 1,620 810 810
OZ2|0dl 1,620,000& 1,620
203 g4l 11,690 11,140 550
03 A=A =] 11,690 11,140 550
OFEAH 82 =& 11,690,000 11,690




2N B2
= el F 29
el S22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
303 Za= 1,800 1,800
01 Za= 1,800 1,800
OFEEE 22N A= 1,800
Oxl2% 400,000 *2 Al 800
(OE= 300,000 x2F A 600
oz 200,000 x2F A 400
308 XtXIEMSOIH 362,000 362,000
18 SIS0t 4 A AS A 362,000 352,000
O78 =AM g2 232,000
ogs 7,000,000 *52] *4JH 2= 140,000
Octtle 2,000,000 *32] *37H 2 18,000
Oul2 2,500,000 52| *4JH 2 50,000
OCIE SO 2,000,000 *4 3| x30H 2= 24,000
OUS0ISAIE UiH &2
100,000,000 100,000
OdlE 818 20,000,000& 20,000
oIt 82 224,385 258,029 A33,644
=0ICIol 2E 8= 224,385 258,029 A33,644
201 223 158,495 199,982 A41,487
01 At22t2ltl 152,867 180,812 N27,945
Ogit=3H| 26,664
OFAI SEANAIN & daa 2|
1,000,000 1,000
OCIXtR! Mz AZEN AF2H 2
397,000 x2% 7%
OgaEd ATERN AIEZE 7Y
1,290,000 3% 3,870
o+d 82 g4 M 20,000,000& 20,000
oZg A3Hl 1,000,000& 1,000
O240I10H 2¢ 103,275
ONS2EI= HI= 40,000,000 40,000
OS2I AZ0ICI01 2
60,000,000& 60,000
OSL20MI| 5 HARE =
1,750,000& 1,750
OZ32& MARIE =E 900,000 900
OAZ0IUAHIIXE JIXHE M=
25,0002 ~259 625
OZels9] 21,200
OAMZEI(Za) JIZE2A SeE |8
1,650,000~ 128 19,800
OUXE ZB3TE CHHAIAE(DID) RXE
= 140,000& 10 1,400
O34l 1,728




2N B2
= el F 29
=es OI0Io 82 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSZHAZALI(AIFEAIIM)
9,000 x2&+841x 123 1,728
02 S3=gHl 3,528 17,070 13,542
Os&k= € MA 3,528
ODID MY &E3ldZ
95,0002 ~12& 1,140
oY W FEIHE
80,000& 122 960
OIS W2 HIAIX &4
17:2%3,500E +243] 1,428
03 A2 I 2,100 2,100 0
OAZ0I00 JINS A2E 2EXE=
2,100,000 2,100
202 04l 3,360 3,360
01 2LHoIH 3,360 3,360
OZLHOBI (AL EHAI M LIZ)
20,0003 «12H+82* 12 1,920
OZtU OB (Al DR THE)
20,0003 1H 6122 1,440
203 gF=4| 1,330 1,330
03 A=A =] 1,330 1,330
O=0ItIo 82 =& 1,330,000 1,330
301 LEtE NS 40,200 36,800 3,400
11 dAMEEIXIE S 2,200 0 2,200
OAZ0IU0 JINS A8 dHl2d=
2,200,000& 2,200
4Bt 2as 38,000 36,800 1,200
OAZ0I0 JIXE E0E
30,0002 x25H *321x 12 27,000
ONS ¢ olfE 10,0002 *80 & *52 4,000
Ottt S7 S48 d4liNe S28 Al
= 7,000,000& 7,000
308 AHXIEMSOIE 21,000 21,000
18 SISt AS A 21,000 21,000
Ot #8874 MA 21,000,000& 21,000
FEo d2gs dEE 2 964,670 1,774,262 809,592
23 Il 2gt 964,670 1,774,262 809,592
Z2AAE tEA K2t 507,130 549,055 N41,925
201 Ler=23 | 377,972 430,105 AB2,133
01 At2teltl 218,842 267,710 48,868
Ogegt+=ZHI 31,176
OnmeH A2F +Y 20,928
QO MR EH/EH(LME) 18,628
—LBP3294XKG 380,000 x4 1,520
-LBP7290(£5) 319,0002 =24 638

_3_




2N 224
HI: LU0 ARTE AIER 2H
Chel: d23 J|8t A3t EEREE
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
-LBP7290(Z 2 495,000 6K 2,970
~LBPE7H4(E ) 300,0002 * 104 3,000
-LBPE794(Z 2 ) 350,0002 *300H 10,500
@I2IE H=)) 2,300
-LBP3294 250,00024 %20 500
-LBP67%4 410,000 *2JH 820
-LBP7290 490,000 201 980
OF | HHOIZ P 4,425
®LT05(2.5T8) 60, 000! *40H 2,400
@LT08(12TB) 1500002 * 10JH 1,500
@=z|HH 0= 105,000 524 525
OFESMY ARE ¢
500,000 500
OFeld AE2Y BHUS US
2,000,000 2,000
OMOIHEES NF LAY
600,000 *23| 1,200
OXNF22E BIIHFI| X
38,9002« 12 467
OXNSHHEBEH2S (CTV L XI2IAD| AR}
133,0002* 128 1,656
O22| 187,666
OFHAD| ZH| SXI22IH| 30,442
=212 NEHI
35,381,0002 *6%+04% 1,99
2Lt MIEARSE FAAD|
7,900, 000! *6+94% 446
OSI2EX T EAIAH
118,674, 640! B+ 94% 6,694
0SS 8% NI
125,390, 0002 *6%+04% 7,072
O AHZ2IE FHAD|
28,800, 0002 *6%+94% 1,625
@I MBIAIAE F=HAD|
15,406, 0002 *6%+94% 869
OASEHE| 22 FHAD|
5,000, 00021 Bl+2CH+94% 564
OUERT HI2MHAIAE
55,250, 0002 *6%+94% 3,117
OUIESRD FIHUHAAH(BATY A
) 306,330 307
ZEH XI22] FEAD|
5,700, 000! #6%+94% 322
O=2IT M FHAD]
5,500, 000! *6+94% 311
OIS T FEAD
20,299, 0002 *6%+94% 1,145

_4_




2A: 24
HE: ZOI0( A= MEE PE
Chel: d23 J|8t A3t EEREE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FECEEESSIS]
26,620, 0002 *6%+94% 1,502
QLR B XA
7,350, 0002 %6%+94% 415
OLIEY B X EER
34,840, 0002 +6%+94% 1,965
@222 el F|0|Z FX
17,670, 0002 *6%+94% 997
0222 Bl YEEX(AMHZ)
19,400, 0002 «6%+94% 1,09
OFESAY HHl X2 32,286
0253 A 8,849,060 8,850
@Mt 46,840, 0002 +6%*94% 2,642
@= A2 x| (20H)
154,985, 9002 *6%+94% 8,742
oLL A2 86,711,000 +6%+94% 4,891
@~ P1Z 52 (48Port, 19CH)
25,555, 0002 +6%+94% 1,442
@2 EGIE (24Port, 440H)
34,509, 2002 «6%*94% 1,947
@2 &SI E (24Port, 4CTH)
10,400, 0002 +6%+94% 587
OLI=Y 02! 2tRH
28,230, 0002 *6%+2CH *94% 3,185
oZz Iy J|&Xa] 42,468
O-CIE Z2IOHOHY)
2,850,000 * 122 x94% 3,148
oz 2e Iz J=XAL(EXNRE
) 89, 146, 0002 *10%+94% 8,380
erz2elZz g JaXL (FalE)
20,630, 0002 *10%*94% 1,940
oM ATEY 0 KX 22/ 35,844
O-2E HMZ
11,625, 0002 *10%+94% 1,093
@2 ZHX pjZz )
14,300, 0002 * 10%+94% 1,345
O-CIE SNE)| Tz
28,600, 0002 *10%+94% 2,689
@52I& (Webtob, JEUS7)
29,842, 5002 *10%+94% 2,806
@JHoIE =0 Ae T2
68,367, 2002 *10%*94% 6,427
QoI EES 2| T2 (LIAIZH)
3,955, 120 3,95
@@= XD|2A0HH 2el=Z20Y
1,245,5002 1,246
@A EH A 22 T2 IO(PMS)
15,510, 0002 * 10%+94% 1,458

_5_




2A:

==}
ME: FOINN AZws MUEE D8
¢l Z23 Ol 28t (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Oz FE womsE T I (LR
2) 10,560, 000 * 10%+94% 993
P ER-EVE R
28, 165, 0002 * 0Hs94% 2,648
@ mENE D2y
47,839, 0001 » 10%+94% 4,497
@Jtas T2
15, 121, 00021 10%+94% 1,422
oLizo o Z2
42,000, 00021 10%+94% 3,948
@2z o T2y
14,000, 0002 * 10%+94% 1,316
OROAIAE SXIR2IH| 14,43
@:-2ia Yol A
21,400 0002 +6%+94% 1,207
@220 1515 A AR (20))
26,000, 0002 +6%+94% 1,467
@Li= D 155 Al A B (50H)
9,223, 0002 +6%94% 5,540
@250 HAUUTIAIAE
98,8002 959
@x T2 WRNIOIAIAE(20)
65,506,000 6%:04% 3,700
@-2iE HOINERERCAI AL
27,700,000 +6%+94% 1,563
OWAZHI(HBE, TeE) Rz 2,19
@2 =i (6720H) 29,062,000 29,052
@215 (1350H) 3,138,0002! 3,138
@ zz2A) 150, 130 162,395 A3,265
O==23 2 A 140,10
OHFEY SAY FHE
11,361,602 122 136,340
O2IBAHIA 3,790
@2 Thio ABE
28,6002 34 8
@-2T EUE =005 AHIA
3,000,000% 3,000
@2/ oolE oj2a
550,000 550
@2/ 2ot oI 154,000%! 154
OAl&=YI S TR 19,000
OsAIe RH) 0|F S|
10,000,000% 10,000
oxeEESEE SHRY 42
2,000,000%! 2,000
OWAEHI(HIOIE =7HI) +2/H|
7,000,002 7,000
202 018 1,620 1,620 0




od
i’
oF
uJ

(&) o | o % M~ A N D
S ARk 3|2 321883
A0 2|2 S 3|3 @iy
z_uﬁ_v MUAA <<
4
=]
(@) (@) Nl o | o
g |8|8 SIS 3|83 ks gle|e|8|B
— O | © | o | o > | o AR IR RN
NEl == gla|d g8 18|88 |d
ika) o
RIS
@ | ©
5833 B|2]2 § © E GB|358E 8 5 § BlglE288 3 85|38 88|94
—_ - «© yI~N| ol oo o > ) 5 —lolaoa o o 9o ) Yyl olu|lvw|lvw]lw o
gle 8 ~ © QpB888 8 o o dlggegg ¢ 8888|823
ar
<
=
o o W ow ® © KoK KK 5 T o
= = 5 £ 8 & s 8§ ¢ = 3 5
- - - - - - K x ¥ —, Ok x = -
w | 8 g $s8 8 B % @ 38 w £ g
- . — -\ ~ 7 n
Mw - gI~ 9 g g 8 m,@o, g & ¢
= OF d = 7
= & R A all ~
n = =3 3 = B g5 20
=L Of or A X o _ ol M+ I = % ol
B3 - = o0 U D + D ] =
. ik S TR moo W 57
— _ ¥ ROk R A 7 < o =
= =Y R = a2 W < 3 3 v on
ol N._D_v _4..4_.0_”_.__\ <l ok OM R = <J = _ _
ol A R T A 0 L i rpeeR @
& 2 slEE ow <A owm |y - T L L L = 00
Dl _Isla® |wzzT @ = <A |[Jlslzzx® < ©m o |zmDzocao 2 |z|z|@ <+
|z Elrle Ry RS < |Dim|jm ®ulmw = 8k W |Ur|o ROR BB @ | D oF
a [BS|He s |2@s B OH 3 Swmdan of @ @ |FleBd@da 9 il B O .
=0 S dlotlg H o |[Rla W B I gtz die e e e |[jxlHree ~ |MMWIZITg
- |2 Olala © |ale 0 O O O |¥ O ~= O =y e e e
" o =Hk= S| <|5|s Qs _H,qom.oo_.‘_mmo
* MA_?_ =~ BO|OK [&r|—
R0 O [ &r | oJ
&0 | o)

=
10




2A:
PSR
ool

202 ofh
J¥ox HI

Al

=
2IZd(824
23H(824)

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAeIRR4Y
12,8443 +36A12H+ 108+ 123 53,945
O==2 22 (LEHIIH) 21,580
OAIZIRIZ 2 (LEHLIIMT72)
11,6023 »60AI 2H2 = 123 16,707
OAlIZAZR4S(L LI IH7S)
11,6022 +30A1 2H+1H* 128 4,873
02 JIEtAE = 10,268 31,072 A20,804
O=W2R+S(AIRIEEHHMAIIH) 10,268
OAIZtR 2R (AR EAIIN LIZ)
12,8443 x3BA 21+ 123 5,39
ONZLRR4S (AT CH)
11,6023 *3BAI 2 1B+ 123 4,873
=23H(224) 34,644 33,180 1,464
l23tl(ee4) 34,644 33,180 1,464
201 er23| 18,504 17,040 1,464
01 AtR2t2|HI 18,504 17,040 1,464
OJI2At=22ll 21,0002 x14H =122 3,528
OS2 Al
9,000 x14H+8A!x 122 12,096
OSAPI Xtz 240,000& x10H* 12 2,880
202 04l 13,440 13,440
01 =LHA LI 13,440 13,440
OZUob] 13,440
Ot OIHI(ZH)
20,0002 x 12 *42 x 12 11,520
OZUOHIOEE, 220 MEE
S)) 20,0002 x2H x4 * 122 1,920
203 HR=H] 2,700 2,700
M A2 LRFEI 2,700 2,700
OJIEAH(1521015t) 250,000 * 122 *90% 2,700




